Announcements

1) EC from Exam I due today

2) HW #3 is due Thursday

Observation: (complex solutions)

We observed $e^{i\theta} = \cos(\theta) + i\sin(\theta)$ In order to get any complex number, just multiply by a nonnegative constant r' · ~

solution to

$$ay'' + by' + cy = D$$

where $a_1b_1c \in \mathbb{R}$ and
 y is complex-valued, then
writing $y(t) = u(t) + iv(t)$,
 $av'' + bv' + (v = D)$
 $av'' + bv' + (v = D)$

Back to spring problems

First, if the solution is
$$y$$
,
We'll be solving
 $Q(os(\partial t) = Qy'' + y + 10y$
Since the weight is in equilibrium
 $Y(0) = 0$, $Y'(0) = 0$.

Step 1: Solve homogeneous system

$$0 = 9y'' + y' + 10y,$$

$$let y = e^{rt}. \quad We \quad get$$

$$0 = 9r^{2} + r + 10$$

$$r = -1 \pm \sqrt{1 - 4(10)(9)}$$

$$= -1 \pm \sqrt{-359}$$

$$18$$

$$= -1 \pm i \sqrt{359}$$

$$18$$

Then solutions are of the form $(-\frac{1+i\sqrt{359}}{18})t + (-\frac{1-i\sqrt{359}}{18})t$ $= C_{1} e^{-\frac{t}{18}} \left(\cos\left(\sqrt{\frac{359}{18}t}\right) + i\sin\left(\sqrt{\frac{359}{18}t}\right) \right)$ $+ (_2 e^{-\frac{t}{18}} (\cos(-\frac{\sqrt{359}t}{18}) + i\sin(-\frac{\sqrt{359}t}{18}))$ = $(OS(\sqrt{359}t) - isin(\sqrt{359}t))$

Kcwriting, solutions are of the form $\left(\binom{-t}{18}\left(C + \binom{-t}{18}\left(C + \binom{-t}{18}\left(C + \binom{-t}{18}\left(C + \binom{-t}{18}\right)\right)\right)\right)$ $+\left(\begin{array}{c} -\frac{t}{18} \sin\left(\frac{\sqrt{354} t}{18}\right)\right)$ (Leal solutions: (l'inearly independent) $Y_{1}(t) = e^{-\frac{t}{18}} \cos(\frac{\sqrt{359}t}{18})$ $y_2(t) = C^{-t} Sin \left(\frac{\sqrt{359} t}{18} \right)$.

for some functions U and V.

 $y_{p}(t) = y_{1}(t)u(t) + y_{2}(t)v(t)$

We wish that a solution yp to this equation is given by

Using variation of parameters:

Q(os(3t) = 9y'' + y' + 10y

nonhomogeneous system

the homogeneous system, y,(t) and y2(t). Solve the

Step d' We have solutions for

We arrive at the equations

$$(1) \quad 0 = u'(t)y_{1}(t) + v'(t)y_{2}(t)$$
and

$$(1) \quad 0 = u'(t)y_{1}(t) + v'(t)y_{2}(t)$$
and

$$(1) \quad 0 = u'(t)y_{1}(t) + v'(t)y_{2}(t)$$
Multiply equation (1) by $-\frac{y_{2}'(t)}{y_{2}(t)}$,
and to (2) to get

$$(1) \quad 0 = u'(t) \left(-\frac{y_{1}'(t)y_{2}(t) - y_{2}'(t)y_{1}(t)}{y_{2}(t)} \right)$$

$$\begin{aligned} & 50 \\ u'(t) = \frac{2 \cos(2t) y_2(t)}{9 (y_1'(t) y_2(t) - y_2'(t) y_1(t))} \\ & \text{Integrate to get } u(t) \\ & y_1(t) = e^{-\frac{1}{18}} \cos\left(\frac{1359}{18}t\right) \\ & y_2(t) = e^{-\frac{1}{18}} \sin\left(\frac{1359}{18}t\right) \\ & y_2(t) = -\frac{1}{18} e^{-\frac{1}{18}} \sin\left(\frac{1359}{18}t\right) \\ & + e^{-\frac{1}{18}} \cos\left(\frac{1359}{18}t\right) \left(\frac{1359}{18}t\right) \\ & + e^{-\frac{1}{18}} \cos\left(\frac{1359}{18}t\right) \left(\frac{1359}{18}t\right) \\ & y_1'(t) = -\frac{1}{18} e^{-\frac{1}{18}} \cos\left(\frac{1359}{18}t\right) \left(\frac{1359}{18}t\right) \\ & - e^{-\frac{1}{18}} \cos\left(\frac{1359}{18}t\right) \left(\frac{1359}{18}t\right) \\ & - e^{-\frac{1}{18}} \sin\left(\frac{1359}{18}t\right) \\ & - e^{-\frac{1}{18}} \sin\left(\frac{1359}{18$$